

# The Fibonacci Length of Amalgamated Free Products of Dihedral Groups

Aynur Yalçiner

Selçuk University, Science Faculty, Department of Mathematics,  
Campus, 42075, Konya-Turkey  
ayalciner@selcuk.edu.tr

## Abstract

In this paper we obtain the Fibonacci length of amalgamated free products having as factors dihedral groups.

**Keywords:** Fibonacci sequence, Fibonacci length, Amalgamated free product.

**2000 AMS Classifications:** 20F05, 20E06.

## 1 Introduction and Preliminaries

By considering finite cyclic groups, the concept of the Fibonacci length of groups has been introduced by Wall [10], and then this concept has been extended to abelian groups by Wilcox [11]. After that, in [3], Campbell et. al. defined the Fibonacci orbit and the Fibonacci length of 2-generator groups. We may refer to [4, 6] for the Fibonacci length of more than two generator groups. We may also refer to [1, 2, 7, 8] for some other known results.

For a finitely generated group  $G$  with a generating set  $A = \{a_1, \dots, a_n\}$ , the *Fibonacci orbit*  $F_A(G)$  of  $G$  with respect to the  $A$  is the sequence  $x_1 = a_1, \dots, x_n = a_n, x_{i+n} = \prod_{j=1}^n x_{i+j-1}$ , where  $i \geq 1$ . Moreover, if  $F_A(G)$  is periodic, then the length of the period of the sequence is called the *Fibonacci length* of  $G$  with respect to the  $A$ , denoted by  $LEN_A(G)$ . We note that the Fibonacci length of a group depends on the *chosen* generating set  $A$  and its order.

For the dihedral group  $D_{2n}$  with a presentation  $\langle a_1, b_1; a_1^n = b_1^2 = (a_1 b_1)^2 = 1 \rangle$ , and for any generating set  $\{a_1, b_1\}$  (with has an independent ordering) of  $D_{2n}$ , it has been showed that  $LEN_{(a_1, b_1)}(D_{2n}) = 6$  (see [3] for the details). Later, this result was generalized to the powers of dihedral groups in [4], and was generalized to polyhedral and binary polyhedral groups in [5].

Let  $A = \langle a_1, \dots, a_k; R_1, \dots, R_l \rangle$  and  $B = \langle b_1, \dots, b_p; S_1, \dots, S_t \rangle$  be two groups with the proper subgroups  $H \leq A, K \leq B$ , respectively. Suppose  $f: H \rightarrow K$  is an isomorphism. The *free product of  $A$  and  $B$  amalgamating  $H$  to  $K$*  is the group  $G$  with presentation  $A *_H B = G = \langle a_i, b_j; R_i, S_j, H =$

$f(H) >$ , where  $1 \leq i_1 \leq k$ ,  $1 \leq i_2 \leq l$ ,  $1 \leq j_1 \leq p$  and  $1 \leq j_2 \leq t$ . The groups  $A$  and  $B$  are called *factors* while  $H$  and  $K$  are called *amalgamated subgroups*. As a special case, if  $H = 1$  then the amalgamated free product becomes the free product.

## 2 Amalgamated Free Products of Dihedral Groups

For  $n \geq 3$ , let us consider the dihedral group  $D_{2n}$  with a generating set  $\{a_1, b_1\}$ . Since all subgroups of  $D_{2n}$  are either cyclic or dihedral, these cyclic subgroups of order  $n/d$  are generated by  $\langle a_1^d \rangle$ , where  $d|n$ , and the dihedral subgroups of order  $2n/d$  are generated by  $\langle a_1^d, a_1^r b_1 \rangle$ , where  $d|n$  and  $0 \leq r < d$ . Firstly, by considering the subgroup  $H = \langle a_1 b_1 \rangle$  of  $D_{2n}$  and considering another dihedral group  $D_{2m}$  ( $m \geq 3$ ) with a generating set  $\{a_2, b_2\}$ , we obtain the Fibonacci length for  $G = D_{2n} *_{\langle a_1 b_1 \rangle} D_{2m}$  with all related subgroups of  $D_{2m}$ . We should note that since the ordering in the generating set is important while obtaining  $LEN$ , we will strictly use the notation  $LEN_{(A)}(G)$  to reveal the importance of the ordering that we use.

Then the first main result is the following.

**Theorem 1** *Let  $G = D_{2n} *_{\langle a_1 b_1 \rangle} D_{2m}$  and  $K$  be a subgroup of  $D_{2m}$ .*

i) *For  $0 \leq r' < m$ ,  $r' \neq 1$ , if  $K = \langle a_2^{r'} b_2 \rangle$  and  $m \equiv l \pmod{(2r' - 2)}$ , then*

$$LEN_{(a_1, b_1, a_2, b_2)}(G) = \frac{10m}{(l, 2r' - 2)}.$$

ii) *If  $K = \langle a_2 b_2 \rangle$ , then  $LEN_{(a_1, b_1, a_2, b_2)}(G) = 10$ .*

iii) *For an even positive integer  $m$  and a subgroup  $K = \langle a_2^{m/2} \rangle$ ,*

$$LEN_{(a_1, b_1, a_2, b_2)}(G) = 10.$$

**Proof.** i) By a calculation using the sequence shows that the Fibonacci orbit starts with the words

$$a_1, b_1, a_2, b_2,$$

$$a_1 b_1 a_2 b_2 = a_2^{r'-1},$$

$$b_1 a_2 b_2 a_2^{r'-1} = b_1 b_2 a_2^{r'-2},$$

$$b_1 a_2 b_2 a_2^{r'-1} = b_1 b_2 a_2^{r'-2},$$

$$a_2 b_2 a_2^{r'-1} b_1 b_2 a_2^{r'-2} = b_2 a_2^{r'-2} b_1 b_2 a_2^{r'-2},$$

$$b_2 a_2^{r'-1} b_1 b_2 a_2^{r'-2} b_2 a_2^{r'-2} b_1 b_2 a_2^{r'-2} = b_2 a_2^{r'-1} b_2 a_2^{r'-2} = a_2^{-1},$$

$$a_2^{r'-1} b_1 b_2 a_2^{r'-2} b_2 a_2^{r'-2} b_1 b_2 a_2^{r'-2} a_2^{-1} = a_2 a_2^{r'-2} b_2 a_2^{r'-2} a_2^{-1} = a_2^2 b_2,$$

$$b_1 b_2 a_2^{r'-2} b_2 a_2^{r'-2} b_1 b_2 a_2^{r'-2} a_2^{-1} a_2^2 b_2 = b_2 a_2^{r'-1} b_2 = a_2^{-r'+1},$$

$$b_2 a_2^{r'-2} b_1 b_2 a_2^{r'-2} a_2^{-1} a_2^2 b_2 a_2^{-r'+1} = b_2 a_2^{r'-2} b_1 a_2^{-2r'+2} = a_2^{-2r'+2} a_1 a_2^{-2r'+2},$$

$$a_2^{-1} a_2^2 b_2 a_2^{-r'+1} a_2^{-2r'+2} a_1 a_2^{-2r'+2} = a_2 b_2 a_2^{-2r'+3} b_2 b_1 a_2^{-2r'+2} = a_2^{2r'-2} b_1 a_2^{-2r'+2},$$

$$a_2^2 b_2 a_2^{-r'+1} a_2^{-2r'+2} a_1 a_2^{-2r'+2} a_2^{2r'-2} b_1 a_2^{-2r'+2} = a_2^2 b_2 a_2^{-2r'+3} b_2 a_2^{-2r'+2} = a_2,$$

$$a_2^{-r'+1} a_2^{-2r'+2} a_1 a_2^{-2r'+2} a_2^{2r'-2} b_1 a_2^{-2r'+2} a_2 = a_2^{-3r'+3} a_1 b_1 a_2^{-2r'+3} = b_2, \dots$$

Now, by replacing  $-2r' + 2$  with  $\alpha$ , we can consider what happens to the orbit when we have a section of the form  $\dots, a_2^\alpha a_1 a_2^\alpha, a_2^{-\alpha} b_1 a_2^\alpha, a_2, b_2, \dots$ .

$$a_2^\alpha a_1 a_2^\alpha,$$

$$a_2^{-\alpha} b_1 a_2^\alpha,$$

$$a_2,$$

$$b_2,$$

$$a_2^\alpha a_1 a_2^\alpha a_2^{-\alpha} b_1 a_2^\alpha a_2 b_2 = a_2^\alpha a_2' b_2 a_2^\alpha a_2 b_2 = a_2^\alpha b_2 a_2 b_2 = a_2^{\alpha-1},$$

$$a_2^{-\alpha} b_1 a_2^\alpha a_2 b_2 a_2^{\alpha-1} = a_2^{-\alpha} b_1 b_2 a_2^{-\alpha+r'-2},$$

$$a_2 b_2 a_2^{\alpha-1} a_2^{-\alpha} b_1 b_2 a_2^{-\alpha+r'-2} = b_2 a_2^{-\alpha+r'-2} b_1 b_2 a_2^{-\alpha+r'-2},$$

$$b_2 a_2^{\alpha-1} a_2^{-\alpha} b_1 b_2 a_2^{-\alpha+r'-2} b_2 a_2^{-\alpha+r'-2} b_1 b_2 a_2^{-\alpha+r'-2} = a_2^{-1},$$

$$a_2^{\alpha-1} a_2^{-\alpha} b_1 b_2 a_2^{-\alpha+r'-2} b_2 a_2^{-\alpha+r'-2} b_1 b_2 a_2^{-\alpha+r'-2} a_2^{-1} = a_2^2 b_2,$$

$$a_2^{-\alpha} b_1 b_2 a_2^{-\alpha+r'-2} b_2 a_2^{-\alpha+r'-2} b_1 b_2 a_2^{-\alpha+r'-2} a_2^{-1} a_2^2 b_2 = a_2^{-r'+1},$$

$$b_2 a_2^{-\alpha+r'-2} b_1 b_2 a_2^{-\alpha+r'-2} a_2^{-1} a_2^2 b_2 a_2^{-r'+1} = a_2^{\alpha-2r'+2} a_1 a_2^{\alpha-2r'+2},$$

$$a_2^{-1} a_2^2 b_2 a_2^{-r'+1} a_2^{\alpha-2r'+2} a_1 a_2^{\alpha-2r'+2} = a_2^{-\alpha+2r'-2} b_1 a_2^{\alpha-2r'+2},$$

$$a_2^2 b_2 a_2^{-r'+1} a_2^{\alpha-2r'+2} a_1 a_2^{\alpha-2r'+2} a_2^{-\alpha+2r'-2} b_1 a_2^{\alpha-2r'+2} = a_2,$$

$$a_2^{-r'+1} a_2^{\alpha-2r'+2} a_1 a_2^{\alpha-2r'+2} a_2^{-\alpha+2r'-2} b_1 a_2^{\alpha-2r'+2} a_2 = b_2,$$

$$\dots$$

As in [5], the Fibonacci orbit can be said to form layers of length ten. In fact, by using the above, the orbit becomes:

$$x_1 = a_1, x_2 = b_1, x_3 = a_2, x_4 = b_2, \dots,$$

$$x_{11} = a_2^{-2(r'-1)} a_1 a_2^{-2(r'-1)}, x_{12} = a_2^{2(r'-1)} b_1 a_2^{-2(r'-1)},$$

$$x_{13} = a_2, x_{14} = b_2, \dots,$$

$$x_{21} = a_2^{-4(r'-1)} a_1 a_2^{-4(r'-1)}, x_{22} = a_2^{4(r'-1)} b_1 a_2^{-4(r'-1)},$$

$$x_{23} = a_2, x_{24} = b_2, \dots,$$

$$x_{10i+1} = a_2^{-2i(r'-1)} a_1 a_2^{-2i(r'-1)}, x_{10i+2} = a_2^{2i(r'-1)} b_1 a_2^{-2i(r'-1)},$$

$$x_{10i+3} = a_2, x_{10i+4} = b_2, \dots$$

So we need the smallest positive value of  $i$  such that  $2i(r' - 1) = km$ , for  $k \in \mathbb{N}$ . If  $m \equiv l \pmod{(2r' - 2)}$ , then  $i = \frac{m}{(l, 2r' - 2)}$  and the Fibonacci length is  $\frac{10m}{(l, 2r' - 2)}$ .

ii) We prove this by a direct calculation. We have the sequence

$$a_1, b_1, a_2, b_2, a_1 b_1 a_2 b_2 = 1, b_1 a_2 b_2 = a_1^{-1}, a_2 b_2 a_1^{-1} = a_1^2 b_1, b_2 a_1^{-1} a_1^2 b_1 = a_2^{-1},$$

$$a_1^{-1} a_1^2 b_1 a_2^{-1} = a_2^2 b_2, a_1^{-1} a_1^2 b_1 a_2^{-1} a_2^2 b_2 = 1, a_1^2 b_1 a_2^{-1} a_2^2 b_2 = a_1,$$

$$a_2^{-1} a_2^2 b_2 a_1 = b_1, a_2^2 b_2 a_1 b_1 = a_2, a_1 b_1 a_2 = b_2, \dots$$

and the Fibonacci length is 10.

iii) The members of the Fibonacci orbit are

$$a_1, b_1, a_2, b_2, a_2^{\frac{m}{2}+1}b_2, a_1^{-1}, a_1^2b_1, a_2^{-1}, a_2^2b_2, a_2^{\frac{m}{2}+1}b_2, a_1, b_1, a_2, b_2 \dots$$

Hence the Fibonacci length is 10, as required. ■

We can show that for the subgroup  $K = \langle a_2^{r'} b_2 \rangle$ ,  $LEN_{(b_2, a_1, b_1, a_2)}(G) = \frac{10m}{(l, 4)}$ , where  $m \equiv l \pmod{4}$ . Also, if  $K = \langle a_2^{m/2} \rangle$ , then  $LEN_{(a_2, b_2, a_1, b_1)}(G) = LEN_{(b_2, a_1, b_1, a_2)}(G) = 10$ .

Now let us consider the subgroup  $H = \langle a_1^d, a_1 b_1 \rangle$  of  $D_{2n}$ , where  $d|n$ ,  $d \neq 1$  and  $d \neq n$ . We should note that if there exists a positive divisor  $d'$  of  $m$  such that  $d' = \frac{dm}{n}$ , then one can pick the subgroup

$$K = \langle a_2^{d'}, a_2^{r'} b_2 \rangle \tag{1}$$

of  $D_{2m}$ , where  $0 \leq r' < d'$ .

**Corollary 2** Let  $G = D_{2n} *_{\langle a_1^d, a_1 b_1 \rangle} D_{2m}$  and let  $K$  be as in (1).

i) If  $r' \neq 1$  and  $m \equiv l \pmod{(2r' - 2)}$ , then

$$LEN_{(a_1, b_1, a_2, b_2)}(G) = \frac{10m}{(l, 2r' - 2)}.$$

ii) If  $r' = 1$ , then  $LEN_{(a_1, b_1, a_2, b_2)}(G) = 10$ .

**Proof.** In the proof of Theorem 1, the relation  $a_1^n = 1$  is never used in the calculation of the Fibonacci orbit. Thus  $D_{2n} *_{\langle a_1^d, a_1 b_1 \rangle} D_{2m}$  has the same Fibonacci length of the group given by Theorem 1. ■

Let us take the dihedral subgroups  $H = \langle a_1^r b_1 \rangle$  and cyclic subgroup  $H = \langle a_1^{n/2} \rangle$ . Then we have the following result.

**Theorem 3** Let  $K = \langle a_2 b_2 \rangle$  be a subgroup of  $D_{2m}$ . Let  $G = D_{2n} *_H D_{2m}$  where  $f : H \rightarrow K$  is an isomorphism.

i) If  $H = \langle a_1^r b_1 \rangle$ , where  $0 \leq r < n$ ,  $r \neq 1$  and  $n \equiv l \pmod{(4r - 4)}$ , then

$$LEN_{(a_1, b_1, a_2, b_2)}(G) = \frac{10n}{(l, 4r - 4)}.$$

ii) Let  $n$  be even. If  $H = \langle a_1^{n/2} \rangle$ , then  $LEN_{(a_1, b_1, a_2, b_2)}(G) = 10$ .

**Proof.** We need to show that the Fibonacci orbit is of the form

$$x_j = \begin{cases} a_1^{\frac{(2r-2)(j-1)+1}{5}}, & j \equiv 1 \pmod{10}, \\ a_1^{-\frac{(2r-2)(j-2)}{5}} b_1, & j \equiv 2 \pmod{10}, \\ a_2, & j \equiv 3 \pmod{10}, \\ b_2, & j \equiv 4 \pmod{10}, \\ a_1^{1-r}, & j \equiv 5 \pmod{10}, \\ a_1^{-\frac{(2r-2)(j-6)-(2r-1)}{5}}, & j \equiv 6 \pmod{10}, \\ a_1^{\frac{(2r-2)(j-7)+4r-2}{5}} b_1, & j \equiv 7 \pmod{10}, \\ a_2^{-1}, & j \equiv 8 \pmod{10}, \\ a_2^2 b_2, & j \equiv 9 \pmod{10}, \\ a_1^{r-1}, & j \equiv 0 \pmod{10}. \end{cases}$$

We use induction on  $j$ .

$$\begin{aligned} x_1 &= a_1, \\ x_2 &= b_1, \\ x_3 &= a_2, \\ x_4 &= b_2, \\ x_5 &= a_1 b_1 a_2 b_2 = a_1^{1-r}, \\ x_6 &= b_1 a_2 b_2 a_1^{1-2r} = a_1^{1-2r}, \\ x_7 &= a_2 b_2 a_1^{1-r} a_1^{1-2r} = a_1^r b_1 a_1^{2-3r} = a_1^{4r-2} b_1, \\ x_8 &= b_2 a_1^{1-r} a_1^{1-2r} a_1^{4r-2} b_1 = b_2 a_1^r b_1 = a_2^{-1}, \\ x_9 &= a_1^{1-r} a_1^{1-2r} a_1^{4r-2} b_1 a_2^{-1} = a_1^r b_1 a_2^{-1} = a_2^2 b_2, \\ x_{10} &= a_1^{1-2r} a_1^{4r-2} b_1 a_2^{-1} a_2^2 b_2 = a_1^{2r-1} b_1 a_1^r b_1 = a_1^{r-1}. \end{aligned}$$

Let  $k \equiv 0 \pmod{10}$  and let us suppose that the result holds for all values up to  $k+5$ , in other words,

$$x_{k+1} = a_1^{\frac{k(2r-2)+1}{5}}, \quad x_{k+2} = a_1^{-\frac{k(2r-2)}{5}} b_1, \quad x_{k+3} = a_2, \quad x_{k+4} = b_2, \quad x_{k+5} = a_1^{1-r}.$$

Now we have to show that the required result is true for the next ten entries.

$$\begin{aligned} x_{k+6} &= a_1^{-\frac{k(2r-2)}{5}} b_1 a_2 b_2 a_1^{1-r} = a_1^{-\frac{k(2r-2)}{5}} b_1 a_1^r b_1 a_1^{1-r} = a_1^{-\frac{k(2r-2)}{5} - (2r-1)}, \\ x_{k+7} &= a_2 b_2 a_1^{1-r} a_1^{-\frac{k(2r-2)}{5} - (2r-1)} = a_1^r b_1 a_1^{-\frac{k(2r-2)}{5} - 3r+2} = a_1^{\frac{k(2r-2)}{5} + 4r-2} b_1, \\ x_{k+8} &= b_2 a_1^{1-r} a_1^{-\frac{k(2r-2)}{5} - (2r-1)} a_1^{\frac{k(2r-2)}{5} + 4r-2} b_1 = b_2 a_1^r b_1 = a_2^{-1}, \\ x_{k+9} &= a_1^{1-r} a_1^{-\frac{k(2r-2)}{5} - (2r-1)} a_1^{\frac{k(2r-2)}{5} + 4r-2} b_1 a_2^{-1} = a_1^r b_1 a_2^{-1} = a_2^2 b_2, \\ x_{k+10} &= a_1^{-\frac{k(2r-2)}{5} - (2r-1)} a_1^{\frac{k(2r-2)}{5} + 4r-2} b_1 a_2^{-1} a_2^2 b_2 = a_1^{r-1}, \\ x_{k+11} &= a_1^{\frac{k(2r-2)}{5} + 4r-2} b_1 a_2^{-1} a_2^2 b_2 a_1^{r-1} = a_1^{\frac{k(2r-2)}{5} + 4r-3} = a_1^{\frac{(2r-2)(k+10)+1}{5}}, \\ x_{k+12} &= a_2^{-1} a_2^2 b_2 a_1^{r-1} a_1^{\frac{(2r-2)(k+10)+1}{5}} = a_1^{-\frac{(2r-2)(k+10)}{5}} b_1, \\ x_{k+13} &= a_2^2 b_2 a_1^{r-1} a_1^{\frac{(2r-2)(k+10)+1}{5}} a_1^{-\frac{(2r-2)(k+10)}{5}} b_1 = a_2^2 b_2 a_2 b_2 = a_2, \\ x_{k+14} &= a_1^{r-1} a_1^{\frac{(2r-2)(k+10)+1}{5}} a_1^{-\frac{(2r-2)(k+10)}{5}} b_1 a_2 = a_2 b_2 a_2 = b_2, \\ x_{k+15} &= a_1^{-\frac{(2r-2)(k+10)+1}{5}} a_1^{-\frac{(2r-2)(k+10)}{5}} b_1 a_2 b_2 = a_1 b_1 a_2 b_2 = a_1^{1-r}. \end{aligned}$$

For simplicity, let us denote  $LEN_{(a_1, b_1, a_2, b_2)}(G)$  for short by  $LEN$ . Here we require  $LEN$  to be the smallest non-trivial integer such that

$$\begin{aligned} a_1^{\frac{(2r-2)LEN}{5}+1} &= a_1, \\ a_1^{-\frac{(2r-2)LEN}{5}} b_1 &= b_1. \end{aligned}$$

After the above progress, for  $k \in \mathbb{N}$ , we have

$$(2r-2)LEN = 5nk.$$

Let  $n \equiv l \pmod{2r-2}$ . In this step, we have to consider  $\frac{n}{(l, 2r-2)}$  in two cases. If  $\frac{n}{(l, 2r-2)}$  is even, then  $LEN = \frac{5n}{(l, 2r-2)}$  and if  $\frac{n}{(l, 2r-2)}$  is odd, then  $LEN = \frac{10n}{(l, 2r-2)}$ . Therefore we obtain

$$LEN = \frac{10n}{(l, 4r-4)}.$$

On the other hand, it is easy to see that if  $n \equiv l \pmod{4}$ , then

$$LEN_{(b_1, a_2, b_2, a_1)}(G) = \frac{10n}{(l, 4)}$$

and if  $n \equiv l \pmod{2r-2}$ , then

$$LEN_{(a_2, b_2, a_1, b_1)}(G) = \frac{10n}{(l, 2r-2)}.$$

ii) Since the members of the Fibonacci orbit are

$$a_1, b_1, a_2, b_2, a_1^{1-\frac{n}{2}} b_1, a_1^{-1}, a_2^2 b_1, a_2^{-1}, a_2^2 b_2, a_1^{1-\frac{n}{2}} b_1, a_1, b_1, a_2, b_2, \dots$$

the required length is clearly 10.

Also,  $LEN_{(b_1, a_2, b_2, a_1)}(G) = LEN_{(a_2, b_2, a_1, b_1)}(G) = 10$ .

Hence the result. ■

**Remark 4** Let  $G = D_{2n} *_H D_{2m}$ . Let us consider the subgroup  $K = \langle a_2^{r'} b_2 \rangle$  of  $D_{2m}$  in the case  $r' \neq 1$ . We should note that, for any generating set  $A = \{a_1, b_1, a_2, b_2\}$ , if  $H = \langle a_1^r b_1 \rangle$  ( $r \neq 1$ ), then  $F_A(G)$  is not periodic. We also note that if  $H = 1$ , then  $F_A(G)$  is not a periodic sequence.

The following result is an easy consequence of Theorem 3.

**Corollary 5** Let  $K = \langle a_2^{d'}, a_2 b_2 \rangle$  and  $H = \langle a_1^d, a_1^r b_1 \rangle$  be two subgroups of  $D_{2m}$  and  $D_{2n}$ , respectively. If  $d = \frac{d'n}{m}$  and  $n \equiv l \pmod{4r-4}$ , then

$$LEN_{(a_1, b_1, a_2, b_2)}(D_{2n} *_H D_{2m}) = \frac{10n}{(l, 4r-4)}.$$

By considering the 3-generator case, we have the following result.

**Theorem 6** Let  $G = D_{2n} *_{\langle a_1^d, a_1 b_1 \rangle} D_{2m}$  and  $K$  be a subgroup of  $D_{2m}$ .

- i) Let  $K$  be as in (1), then  $LEN_{(b_1, a_2, b_2)}(G) = 8$ .
- ii) If  $K = \langle a_2 b_2 \rangle$ , then  $LEN_{(a_1, b_1, a_2)}(G) = 8$  and  $LEN_{(a_2, b_2, b_1)}(G) = 4n$ .
- iii) For an even positive integer  $m$  and  $d = n$  if  $K = \langle a_2^{m/2} \rangle$ , then

$$LEN_{(b_1, a_2, b_2)}(G) = 8.$$

**Proof.** The proof is similar to the proof of Theorem 1. ■

We further obtain the following result as a consequence of Theorem 6.

**Corollary 7** Let  $K = \langle a_2^d, a_2 b_2 \rangle$  and  $G = D_{2n} *_H D_{2m}$ .

- i) For  $d = \frac{d'n}{m}$ , if  $H = \langle a_1^d, a_1^r b_1 \rangle$ , then  $LEN_{(b_2, a_1, b_1)}(G) = 8$ .
- ii) Let  $n$  be even positive integer and  $d' = m$ . If  $H = \langle a_1^{n/2} \rangle$ , then  $LEN_{(b_2, a_1, b_1)}(G) = 8$ .

**Example 8** By [9], it is known that the extended Hecke group  $\overline{H}(\lambda_q)$  is defined by the presentation

$$\langle T, S, R \mid T^2 = S^q = R^2 = 1, RT = TR, RS = S^{-1}R \rangle.$$

Since  $\overline{H}(\lambda_q) \cong D_2 *_Z D_q$  and the members of the Fibonacci orbit are

$$T, S, R, TSR, STS^{-1}, S^{-1}, RS^{-2}, STR, T, S, R, \dots,$$

the Fibonacci length of  $\overline{H}(\lambda_q)$  is 8. Furthermore, as a special case, since the extended Hecke group is called the extended modular group  $\overline{\Gamma}$  for  $q = 3$ , we also have the Fibonacci length of  $\overline{\Gamma}$  is 8.

## References

- [1] H. Aydın, G.C. Smith, Finite  $p$ -quotients of some cyclically presented groups. J. London Math. Soc. 49(2), 83-92 (1994).
- [2] H. Aydın, R. Dikici, General Fibonacci sequences in finite groups. Fibonacci Quart. 36(3), 216-221 (1998).
- [3] C.M. Campbell, H. Doostie, E.F. Robertson, Fibonacci length of generating pairs in groups. In: Bergum, GA (Edt.), Applications of Fibonacci Numbers, vol. 3, pp. 27-35. Kluwer, Dordrecht (1990).
- [4] C.M. Campbell, P.P. Campbell, H. Doostie, E.F. Robertson, On the Fibonacci length of powers of dihedral groups. In: Howard, FT (Edt.), Applications of Fibonacci Numbers, vol. 9, pp. 69-85. Kluwer, Dordrecht (2004).

- [5] C.M. Campbell, P.P. Campbell, The Fibonacci lengths of binary polyhedral groups and related groups. *Congressus Numerantium* 194, 95-102 (2009).
- [6] H. Doostie, C.M. Campbell, Fibonacci length of automorphism groups involving Tribonacci numbers. *Vietnam J. Math.* 28, 57-65 (2000).
- [7] E. Karaduman, H. Aydın, On the relationship between the recurrence in nilpotent groups and the binomial formula. *Indian J. Pure and Appl. Math.* 35(9), 1093-1103 (2004).
- [8] E. Karaduman, Ö. Deveci, *k-nacci* sequences in finite triangle groups, *Discrete Dynamics in Nature and Society*, 453750-5-45375010-10 (2009).
- [9] R. Şahin, O. Bizim, I.N. Cangul, Commutator subgroups of the extended Hecke groups  $\overline{H}(\lambda_q)$ . *Czechoslovak Math. J.* 54(129), 253-259 (2004).
- [10] D.D. Wall, Fibonacci series modulo  $m$ . *Amer. Math. Monthly* 67, 525-532 (1960).
- [11] H.J. Wilcox, Fibonacci sequences of period  $n$  in groups. *Fibonacci Quart.* 24(4), 356-361 (1986).